
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

8, 046 × ________ = 80.46 2, 348 × ________ = 2348

4, 843 × ________ = 48.43 4, 535 × ________ = 4535

9, 372 × ________ = 93.72 6, 925 × ________ = 6925

9, 224 × ________ = 9224 7, 329 × ________ = 73.29

2, 324 × ________ = 232.4 5, 821 × ________ = 5821

10, 895 × ________ = 10895 3, 354 × ________ = 33.54

8, 404 × ________ = 840.4 8, 744 × ________ = 874.4

10, 208 × ________ = 102.08 4, 088 × ________ = 408.8

3, 904 × ________ = 390.4 10, 065 × ________ = 100.65

7, 916 × ________ = 791.6 1, 48 × ________ = 148
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

8, 046 × 10 = 80.46 2, 348 × 1000 = 2348

4, 843 × 10 = 48.43 4, 535 × 1000 = 4535

9, 372 × 10 = 93.72 6, 925 × 1000 = 6925

9, 224 × 1000 = 9224 7, 329 × 10 = 73.29

2, 324 × 100 = 232.4 5, 821 × 1000 = 5821

10, 895 × 1000 = 10895 3, 354 × 10 = 33.54

8, 404 × 100 = 840.4 8, 744 × 100 = 874.4

10, 208 × 10 = 102.08 4, 088 × 100 = 408.8

3, 904 × 100 = 390.4 10, 065 × 10 = 100.65

7, 916 × 100 = 791.6 1, 48 × 100 = 148
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